x+28 =38 x—12=3
—15+x= -6 13+x=27
x—9=-1 31 +x=44
x+4=11 x+4=16
15+x=21 x—7=4




4+x=16 x—4=14
x—25=-3 x+3=231
-9 +x=23 x—T7=31
48 +x=-6 x+1=49
59 +x =-7 x+6=64




x+Lljv9=74 x—1=4
—76 +x= —11 7+x=22
x—78=-3 34 +x=359
x+4=289 x+8=43
5+x=100 x—7=238




4+x=10 x+9=10
x—11=-4 x+17=19
15 +x=-7 x—7=-4
~18+x=-9 x+15=19
29 +x =19 x+13=18




x+59 =60 v_4=4
—-19+x= -17 7+x=19
x—14=-11 34+ x =50
x+24=28 x+8=28
35+x=40 x—7=17




9% =9 4x =44
6x =12 5x =60
5x =15 8x =104
9x =36 Tx =98
10x =50 2x =30




—Ix="1 —6x = 60
12x =24 3y =45
—13x =36 2x =40
—12x =48 —4x =100
—14x =70 —3x =90




3x =36 5x=10
4x = 56 8x =32
2x =32 Tx =42
Ox = 162 8x = 64
10x =200 3x =30




—9x=9 —Ix =1
—Ox =27 —8x = 88
—7x =35 —2x =42
—8x =56 —3x=93
—6x = 54 —4x =164




6x =18 5x =120
4x =52 3x =42
2x =46 2x =48
6x = 198 5x=170
3x=129 3x=132




3x=3 x+2=3
—4x = -8 x—1=1
Ox =127 3+x=0
—2x = — —2+x=2
7x =35 4+x=9




6x=12

—3x= —12 3 +x=1
5x =30 x—2=4
—6x = 48 —6+tx= 2

Tx="170

I +x=11




\Zﬁ\

—A4x = —12 —S+x= -2
3x= 18 6+x=12
—2x = -18 —4+x=5
6x = 72 x+6= 18
—Sx= -75 —3+x= 12




2x= -4 x+1= -1
—3x = x+5=4
—4x=0 5+x=15
12x = 12 4+x=5
—15x = -30 T4y= _5




—4x= -20 x+5=10
—6x = —60 34+x= 44
3x= 45 7+x= 22
5x= 100 ~50 +x= —30




3x—1=2 4x+3=7
dx—1=7 & —1=15
x+1=7 6x +2 =20
3x+1=13 6x — 1 =23
15x—2=73 8x + 6 = 46




T e
3x—-1=5 2x+7=11
4x +2 =18 9 —1=35
6x +3 =39 Tx+2=44
2x—-1=15 10x—-1=79
O9x +3 =093 2x-3=17




x—1=1 10x—-2=8
2x+5=11 Ix+2=11
3x—2=13 6x—1=29
4x+1=29 Ox + 5 =68
6x—3=51 11x—1=98




3+2x=35 4+5x=9
4+3x=10 6+2x=10
6+2x=12 3+8x=27
2+8x=36 4+ 5x=24
6+ 10x =56 1 +6x=31




2x+1=13 3x+1=19
4x +2 =30 7+ 2x=21
6x+1=49 4x +3 =35
Ox +7 =288 6x—1=1353
6x —7=2353 4+ 7Tx="74




6x=5x+1 3x=2x+11
Tx= 6x+3 4x=3x+ 13
8qx="T7x+5 Sx=4x+15
Ox=8x+7 6x=5x+17
10x=9x+9 Tx=6x+19




h

4x =3x—1 Ox =8x—11
S5x= 4x-3 3x=2x—-13
6x =5x—35 4x=3x-15
Tx=6x—-17 Sx=4x-17
8x=Tx—-9 6x =5x—19




\\

1\ + |
///),\g
/

s

3x=x+2 8x = 6x + 12
dx= 2x+4 Ox =7x+ 14
5x=3x+6 10x=8x+ 16
6x =4x + 8 l11x=9x+ 18
Tx=5x+10 12x = 10x + 20




2x =-2x+4 3Ix=-2x+5
3x=—x+38 2x=-3x+10
2x=-"2x+12 4x=—x+15
x=-3x+16 x=—4x+ 20
S5x=x+20 6x =x+ 25




dx=x+3 4x=-—x+5
2x=—x+6 6x=x+10
S5x=2x+9 Tx=2x+15
x=-2x+12 3x=-2x+20
6x=3x+15 8x =3x+25




3x+tx=4 2x +3x=-5
4x +x=10 4x +2x=-12
S5x +x=18 S5x +2x =-21
6x +x =28 6x + 2x =-32
7x +x =40 Tx +2x=-45




xX+2x=6 2x+x=9
x+3x=16 3x+x=24
x+4x=30 4x + x =45
x+5x=48 Sx+x=172
x+6x=70 6x +x =105
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2x+3x=1+4 2x+4x=30+6
4x+2x=10+2 Tx+2x=59+4

3x+x=9+3 2x+5x=49+7
Sx+2x=20+8 3x+4x=60+3
6x+3x=39+6 x+4x=41+9




x+x=5-1 2x +x=10-4
3x+x=9+7 Ox —4x=19+1
5x—x=19+5 6x—x=34-4
3x—x=20-4 Ox -2x=60—-4

4x + 5x=100-10

3x+5x=72+8




S5x+x=15+3

dx —2x=9 -7

3x+2x=28+2 Ox —3x=25-1
Tx—-3x=35+1 &qx—x=40+9
6x —2x=50-2 3x+x=37+3
6x +2x =100 + 20 Ox —6x=40 -1




dx+4x=10-4

8x—3x=9-4

4x+3x=20+1 7x +3x=40-10
6x—3x=13+2 4x+6x=47+3
Ox +x=65+5 3x+x=30-2

4x +7x=100-1 4x +5x=90-9




Ox -2x=10+4

3Ax+5x=7+1

6x—2x=19-3 4x+x=12+3
Tx +x=50-2 Tx—4x=16—-1
3x+x=15+17 S5x+3x=53+3
6bx —x =48 +2 Ox —2x=65-2




53;%1:4 1+2x=3
dx-2=6 3+4x=11
3x-3=6 4+ 5x=19
2x—4=4 6+ 5x=26
6x—-1=29 2+9x=47




2x-7=-3 3x+4=10
3x-8=4 4+ 6x =28
4x —-12=12 3+2x=15
5x +6 =46 4+ 6x=>52
3x-24=6 1 +2x=21




5+2x=3
5x+6= -4 7+3x=1
Tx+40=19 8+4x=-+4
6x+5=-19 9+2x=1
4x +10=-10 7+ 5x=-18




2x-3=-1 bx—1=17
4x—15=-3 3x—5=4
6x —40=-10 6x — 50 =-20
3x-24=-3 Tx — 8 =41
4x —40=-4 S5x—-14=31




2x+3x+x=1+2+3

3x+4x+x=2+3+3

A +3x —-2x=3+2+5

2x+3x+x=5+3+4

2x+5x —-4x=5+6-2

dx +5x—-2x=5+10+6

3x+6x—5%=10+1+5

3x+6x+2x=40+1+3

6x +7x—-5x=21+9+ 10

5+ x—-2x=11+3+6




2x+3x+5x=-1-8-1

2x+5%—-—x=-1-2-3

3x+6b6x—5%=-T7-2-5

2x+4x+x=10-3-21

6x +4x—-8x=9-10-5

6x+tx+2x=-20-3-4

dx +3x+2x=-15-17-4

2x+5%x—x=10-12-22

Ox +2x—6x=-3-2-20

3x+4x+8x=10-65-20




2x+6x+3x=5+10+7

S5x+2x+3x=23-5+2

dx +6x +2x=30+ 10+ &

6x+7x—-5x=15+18 -1

6x+5x—-2x=60-3 -3

2x+4x —x=24+5+1

dx +5x +x =40+ 22 + 18

Ox —6x+2x=50—-4-6

x+3x+5x=100-9 -1

6x —3x+2x=43+3+4




2x—x—-5%=10+2+4

S5x+4x —x=10-20-6

3x+10x—-5x=50-80-2

3x+x—10x=18+2+4

2x+5x—-4x=20-30-8

2x—5%x—-x=10+12+2

6x+7x—10x=-5-8-11

2x+Tx—-12x=30-5-1

Ilx+x—-6x=40-50-50

8 —10x—-4x=30+10-100




x—10x+x=3+6-1

6x+x—2x=10—-4-1

2x+x—-6x=12-2-1

3x+7x—2x=30+4-10

44x —50x +x=20+1+4

dx + 6x —2x=10+20+ 10

3x+10x—8x=-40+1+4

dx —8x+ 10x=20+ 18 +4

4x +2x -3x=20-30-17

Ox —5x+6x=100—-1-9




Sx;jv3x+2 Tx=5x+2
6x =3x+ 6 4x=2x+4
4x=x+9 S5x=x+12
Sx=2x+12 8x=5x+12
6x =3x+ 15 Ox =4x + 25




Tx=4x+6 6x =2x+8
&qx=5x+12 Ox =2x+ 28
9x = 4x + 30 IIx=9x + 12

S5x=x+32 Tx=5x+16

9x =x+ 80 8x =3x+ 50




6x=4+2x & =5+ 3x
5x=9+2x 10x =21+ 3x
Tx =10+ 5x &x=35+x
Ox =35+ 4x 4x =21 +x
8x=9+7x 6x =36+ 2x




Tx=5+2x Sx=6-x
3x=16— x 4x =24 — 2x
&qx =21+ 5x Ox =49 + 2x
10x =20 + 8x 8x =50+ 3x
2x =352 —-2x O9x=130—-x




3x=10-2x S5x=6+2x
4x=25—x 7x =80 —9x
3x=32-x 4x =40 —x
Tx=x+ 66 10x =121 —x
Ox =28 +x 6x =56 + 2x




2x + 1) =14

20+ 1)=4

3(x+2)=12 3(x +2)=27
4 + 1)= 16 4x +1)=36
5(x +2) =30 5(x +2) =55
6(x + 1)=36 6(x + 1) =66




5(x +2) =20 56— 1)=5
3(x+2)=18 3(x—1)=9
6(x +2) = 48 6(x — 1) =30
4(x +2) =20 4x—1)=28
7(x +2) =84 7(x—1)=63




10(x + 3) = 40 2(x—1)=0
5(x +7) =50 3(x+2)=15
9x +1)=54 7(x—2)=21
8(x — 2) = 40 5(x —2) =25
6(x —4) =30 6(6 + x) = 66




22 +x)=6

32 +x)=12 33 +x)=15
43 + x) = 24 4(4 + x) =28
5(4 + x) = 40 5(5 + x) = 45
6(5 + x) = 60 6(6 + x) = 66




2x+1)=4

4x—-1)=0 5(x+2)=20
6(x +3)=236 Tx—-1)=0
8x—4)=0 Ox+4)=172

10(x + 5) = 100 11(x—5)=0




3 +3)=4Q2 +x)

4(3x+6)=6(x+3)

4(4x —2)=8(x + 1)

6(x +6)=22x+ 16)

6(2x—3)=9(x—-1)

2(3x+18)=6(x + 6)

12(x — 2) = 3(3x — 4)

6(x +12)=4(x + 16)

10(x —2) = 5(x + 1)

S5x+11)=3(x+ 15)




24x +2)=4(x +3)

4(2x — 4) = 16(x — 3)

42x—-4)=20Bx—-4)

10(x — 4) = 4(x — 1)

S5(x—2)=4(x— 1)

10(x —5)=6(x—3)

S5x+1)=3(x+7)

5(r—2)=2(x + 10)

5(2x — 12) = 8(x — 5)




x+2=5 x+1=3

x+3=4 x+2=10
x+4=5 x+8=10
x+6=7 x+1=2

x+3=4 x+7=9




x—8=2

x—4=28




x+2=7 x+7=9
x+1=28 x+4=8
x+1=9 x+2=11
x+2=6 x+3=10
x+3=9 x+1=7




=3 x—1=18
x—2=10 x=2=17
x—1=14 x—3=16
x—8=10 x—35=14
x—9=6 x—13=6




x+1=7

x+2=7 x—2=7
x+3=7 x—-3=7
x+4="7 x—4=7

x+5=7 x—5=7




x+1=9 x—1=9
x+2=8 x—2=38
x+3=7 x—-3=7
x+4=6 x—4=6
x+5=5 x-5=5




~1+x=6 —6+tx=38

-3+x=10 —S5+x=15
4+x=12 6+x=11




l+x=11

2+x=15

3+x=9 3+x=7
4+x=5 4+x=10
2+x=10 8+x=12
5+x=9 S5+x=12




5(3x + 1) =50 4(3x + 1) =40
2(2x +2)=16 5(2x +2) = 40
4(2x + 3)=136 6(2x + 3) =54
3(3x +2) =33 7(3x +2) = 56
8(2x + 1) =56 92x + 1) = 63




22x+7)=18 32x +7) =27
3(3x + 6) =27 5(3x + 6) = 45
7(4x + 1) =35 9(4x + 1) = 45
4(2x + 5) =28 7(2x + 5) = 49
8(6x +2) = 64 4(6x +2) = 32




10(4x + 1) =90

7(3x + 5)="77

9(5x +2) = 108

8(4x + 3) = 88

8(3x + 5) =88 9(6x + 1) =117
7(2x + 1) =35 10(2x + 1) = 50
4(5x + 2) = 48 5(3x + 7) = 65




-

2(1 +5x)=12 6(1 + 5x)=36
3(1 +3x)=21 7(2 +3x)=56
4(2 +4x) =56 2(3 +4x) =30
53 +2x)=155 7(1 + 5x) = 147
6(4 +2x) =84 92 +3x)=153




O
>

2(5x—-3)=4 T2x—-1)=7
6(3x —2)=24 53x-6)=0
T(4x —1)="77 8(2x —3)=24
7(2x—5)=21 9(5x - 7)=117
8(3x —4) =88 8(7x —10) =200




ij:lS 9 +x=11
Stx=17 —8+x=-9
4 +x=9 —4x =16
8+x=11 Tx = 14
x—3=4 x—1==2




4+x=28 —11+x=3
3x =-21 4x =16
—Tx =7 —l+x=1
4+x=3 -9+x=1
—5x =-20 8+x=10




2x—1=5 3x+1=10
3x-2=1 2x+5=7
2x-2=4 6x—-2=10
5x-1=9 10x+1=21
dx—1="7 S5x-3=12




3x—2=7 4x +2=10
5x—3=17 Ix+1=16
2x—1=9 2x+5=17
6x—8=10 Ix+2=11
Tx—1=13 8x+1=25




10x—1=11 Tx4+2=9
Sx+2=12 ox—1=17
3x—1=8 3x+4=13
6x + 4 =28 8x—5=27
4x -8 =12 4x + 11 =31




6x+4=10 4x+1=5
Tx—9=35 6x+3=15
l11x-3=30 Tx -2 =19
S5x+4=24 4x + 8 =124
Ox —7=738 12x—-1=159




3x—-1=-7 2x+3=-1
4x +2=-14 Tx—2=-30
2x-2=-14 6x +4=-32
Sx-1=-41 Ox — 10 =-82
3x+5=-25 4x + 13 =-27




Tx+3=-4 2Xx+9=7
8x —1=-25 4+ 11=—1
4x +3=-17 Sx+26=1
6x —10=-52 3x—4=-17
Sx+1=-44 Ox—1=-82




